RALLY MONTE-CARLO
GUIDE &
CHECK LIST




DAILY PREPARATION

SYNCHRONISE CLOCK
VERIFY PARAMETERS / STAGE

PREPARELINK

SELECT ST00

SET DISTANCE TO ZERO
PROGRAMME STAGE TIME
PROGRAMME STAGE DISTANCE

STARTLINK

Secteur: “VALENCE-AIRE DE BLOD”
Lundi 28 janvier 2013

START » CH

Drome

CALIBRATION toptionan

ROADBOOK DISTANCE

PROVISIONALEND OFLINK

SELECT STO01
AVERAGE SPEED PROGRAMMING

ZERO »
CALCULATE | 4
ZERO .
CALCULATE L4

1Communes
1
1

1

! VALENCE (Champ de Mars)
1 Rue du Lycée

: Av. Victor Hugo

 bif Av. V. Hugo/Dir A7 (dir Avignon)

| Péage A7
1
, dir Privas

\Col de I'Arénier
\Col de I’Escrinet

1Zone Etalon.Début (buf D 104/D 356)

Vesseaux

'Zone Etalonnage Fin (Arret Bus)

Temps idéal: 5h05

Horaire approximati

de 8h00 a 13h00

R o o

de 8h00 a 13h00

4 MODE
CALIBRATION " ________________________________________________________________________

STARTOF L.R.

Distance corrections (1)

How to interpret the information (&)

CONTINUETHELINK STAGE

Ardéche
D T >
L4
m P Fin ZR

END OF LINK STAGE

| Saint Pierre de Colombier
| Burzet
1 bif D26 /D 289

| Burzet (sortie village)

! Col de la Baricaude

1 Sagnes et Goudoulet

| bif D 289/ D 122 (droite)
| bif D 122/ D 378

! Lachamp-Raphaél

1 bif D122/ D 215

| bif D 122/ D 215 (droite)
| Le Chabron

! Péreyres

i Le peyral

: Burzet

: Point Stop bif D 215/ D26

1
| 11 bif D 26 /D 254
1

de 8h00 a 13h00

de 10h00 a 15h00

@ 0

| bif D21/ D 86 E
| bif D 86E/ D 86

 bif D 86/ Zone CH

) CH ! AIRE DE BLOD (St Georges les Bains)

228,13 km
,  Routes | Distalnces X
: : Partiel ! Total :
1 1 1
! ' 0,00 E 0,00
1 0,16 . 0,16 1
: A7 . 009 ' 025
! Ay 258 1 283 !
L B
| . 014 | 3,18 .
1 1 1 1
; 1 ] 1
1 D104 '+ 7,75 49,90 1
I D104 | 2,01 . 51,91 |
. D104 , 523 | 5714 |
! D104 | *(3), :
: D 104 : 5,33 : 62,47 :
1 1 1 1
1 1 U 1
! D104 | 7,75 1 49,90 |
' D104 ' 201 , 5191 !
1 D104 ' 5,23 . 57,14
. D104 [ :
. D104 , 5,33 62,47 .
1 1 | 1
: D289 , 0,00 ' 93,8
X D282 | 12,xx : X
: D 289 : 15,xx 1 :
I D122 « 19xx |
. D122 | 22xx ! :
! D122 | 27xx ! !
! D122 1 27xx !
1 D115  27,xx , 1
: D115 , 37xx | :
! D115 | 38xx ! !
! D115 ' 40xx !
| D115 . 4521 , 139,07 .
. D26 , 0,09 | 139,46
| | | |
! D254 ' 030 ! 13946 !
HE R T a
1 D8 E ' 0,40 224,37
: D86 164 |, 22601
! ' 195 ! 227,96 !
! D86 ! 017 ' 22813 !




| MONTECARLO MODE |

Only for Blunik Il

We have the device turned off and weigh it by
pushing it for a few seconds according to the button:

START
oN

We will see the following screen:

¥¥% Endlish  #xx
# MOMTE-CAELO

If we want to change the mode (Montecarlo / Blunik Il
/ Blunik Basic) we have to press the key:

MODE
CALIBRATION

To change the language (English / Frangais) you need

to press the key:

To accept, press the key:

ENTER
SELECT

| DRILY PREPARATION |
___ SYNCHRONISER CLOCK

| PREPARE LINK |

SELECT STO00

Heure HBS:168:868 Ny PARAM
STEE L Dewdsmdxx <VIEW
v

REGLAGE HORLOGE MR Time fo be
BE:11:06. 68 B <y nchronised

mnn/
|

Heure HE2:11:82
STEA L Do s e xx

SYHCHRO 0K 1!
BE:11:88.06

| VERIFY PARAMETERS / STAGE

Heure HEZ:18:56
STEE) L Dot o d o
— o=

Heure HBS:1E@:S5
STEE L D s smfxx

Select ST00

[} sTAGE

STEEA MO s ixsixx|*)
*0akens (Iohaomas Program Sector Time
L« ] > ] +]

SET DISTANCE TO ZERO

[E:UNIK]I)

PARAM
<VIEW
v

|PARAMETERS |
:IUUNIKPARAM VALUE
¥¥ Led Bleu %% B.3 Secondes
El Ye Fo Ec DF 2 2 2 2 2
Dernier chiffre Oui
¥ Ecart ¥ Distance
Unites Distance Kilometres
+ - Corrections 18 u
¥ TOUCHE START # Sonchro
START in STAGE Dizabled
Intervalle/Mesor | B 5 chasue 1680

STEE MO w o .

T EGk BEG TEHBENBB" Wiyl Total Distance to zero
STEE MC @2id2e23

DISTAMCE = (&) "m

| PROGRAMME STAGE TIME / DISTANCE
STEE (A )

M. xx (228k13A .
Programme Stage Distance
mmnj ’ J

STEa R Calculate Average
MHMH. ®x 228k 136 >SIJEEd of Stage

STaad cA» EHO Ny ENTER
madd, 37) 228k 138 SELECT

Heure HES:1E:SE
STEE L Do s s xx

_2-




| START LINK |

® Select tires (3):

Heure Ha2:l3:@l
STEE L Do s s s xx

Toakaoa L W 86,8
—BEkEER  m=45, 82

— CALIBRATION IN THE

’» QLU Start of the link

LINK STAGE

|[PROVISIONALFINISH OF LIAISON |
TPakaza L U 42,0
‘—aakzma m=45.@2”mm

Heure HE9:l1@:88
STEE L D s sm s xx

To provisionally
finish the link

® Verify selection of tyres (3):

TS7k142 L W B60.8
—BEk1Z21 wm=45,82

TS7k142 L ¥ 35.2
PS7k142 (Zh=45.02

Te2k4ya L W 37.1
—BEkZ234  m=45,82

TE2k472 L W 37.1
PESK337 (Zh=45.82

Te3k245 L W 43.2
—EEK234  ==45.82

Mesure AS337

Road Book (853368 ¢
L« ] >

Etalonng !!
BEZ23E [ @81

CH2

Te3kedd L W 42.8
—BEkZEE  m=45, 82

TR 2f  fthe start of fhe

> Calibration Zone (stop if
possible)

Tl af  the end of the

> By Calibration Zone (stop if
possible)

> " to calibrate

*(2)
Roadbook distance p

|_DISTANCE CORRECTIO

|_CHANGE OF SCREEN (2)_if necessary

NS (1)_in the link stage

® Select tires (3):

Heure HE9:18:26
STE1  Daxissixx

&3 choose ST01/02 etc.
® Programme the Average Speed of the Z.R:

Heure HE9:l@:28 }

S5Tal Dl 8 s 820

e |f the start of the Z.R. is not planned (surprise) the
start distance must be introduces in downward offset on
the left of the screen. Don't forget to remove it in the

next Z.R.
STEL MI =xixsiax
% B8k BEE Tahum ’m

ENTER STE1l <A Programme the ENTER
ras oy 1ookoon e soees (D

+ Programme the distance more
one than the special length.

Heure HE9:13:61
STaEl Dl 8 20 2 20
| DEPART ue LR |
Heure HES:13:01) SRR Start of the ZR.
S5Tal Dl 8 s 8 20

TaEkeaa = v 68,0 <00 or 30 55T
— Ak A6 m=45,.a@} @

| DISTANCE CORRECTIONS (1)_in the link stage

| CHANGE OF SCREEN (2)_if necessary

Ti3kzZ1e = W 38.1
-Bakala  ~n=842.8

g

Frozen screen, to note the
information. Link continues.

TiSkz18(F) @88.1
-EEkA1A  @38.08

LIMK COMTIMUES

® How to interpret the information (&4):

|CONTINUE le SECTEUR de LIAISON |
TiSk218 F BSa. 1

—@EkE1A @3, a ’m

TiSk21@ = Y 5@.1

—GOKE1E  n=B4%. @ 'W W

To3k6rE L ¥ 23.8 \

Continue LIASOH «

T23kerd L W 23.0
-81k308  m=435.682

Continue the link

|[FINISH du SECTEUR de LIAISON |
To3kE7G L Y 23,8
-@1k 308 m=45.@2”mm

Heure H11:12:54
STEHE L Dssxm s xx

_3-




(1) DISTANCE CORRECTIONS

‘Iggiggg =mz4g?ég’> a’r a visual reference

|
Tedkd4?va 3 W 37.1
PESK33Y [Zh=45.02

For example: If the Road Book measures 64.52, you must
add 64.52 - 64.479 = 0.041

® POSSIBILITY A: update the total.

+0, 841 unit: cIE e > B
|

(40m have
° H > > | 2 >
POSSIBILITY B 10 been added)

Tedk328 L W 42.0
FEELZ230  n=43.02

For example: If the Road Book measures 62.21, you must
subtract 64.52 - 62.210 = 2.310

® POSSIBILITY A: update the total

B 2 stounit: e > [
|

TezZkz21a L W 42.08
FPEEKZ3E  n=45.02

B:1LINIK

[2) cHANGE OF SCREEN in ZR. or link with
touch:

® Regularity screen:

L indicates STO00 (link)
Total distance [ Instantaneous speed

Tezkzla L W 42.8
-BBkKZ3A  m=45,82

Reg. difference Imposed speed

® Regularity Screen / Corrections:
Total distance SPORT DRIVE corrections

TezZkzla L 22.2 >m

—BEk231 28, 8

Reg. difference Co-pilot corrections

® Partial Screen:

Total distance Instantaneous speed

TeZkzZla = W 42.8 >m

FE1kL 456 =45. Bz
Partial distance ||rnposed speed
ZERO
Frozen by

® Chrono Screen:

Total distance Instantaneous speed

Tezkzia = W 42.8 >m

Cal:d4a:l2 =435.62

Chrono Imposed speed

® | ink Screen:

Time (clock) Regressive Distance

HED:S6:28 Z90k0a
RES: 27123 =45,072 >W

Imposed Speed

Remaining Time

(3) SELECT TYRES

i O

Choix de PHEUS
__} m {:__

E3 B3 to choose ) [aNEL

(4) How to inferpret the information of END
OF Z.R.

® EXAMPLE A:

Total distance SPORT DRIVE corrections
TiSkZla F @268.8
—BEkE1A HoE, 2

Reg. difference

Co-pilot corrections

If the Total Distance is differenf, you must modify the
co-pilot’s corrections:

- SPORT DRIVE corrections.................. 80.0
- CO-PILOT corrections......cccevvvrrnen. 48.0

The aim is for the SPORT DRIVE correction to be
80+48=128, that is, 128/80=1.6 (plus 60%).

Multiply the SPORT DRIVE coefficients by 1.6:

* SPORT DRIVE #
+ {236 12¥kE

passes fo

* SPORT DRIVE #
+ <<1eX BEkE

>

® EXAMPLE B:

Total distance SPORT DRIVE corrections
TiSk21Aa F 126.8
—HEkE1E  -E3E.8

Reg. difference

Co-pilot corrections

If the Total Distance id different, you must modify the
co-pilot’s corrections:

- SPORT DRIVE corrections................. 120.0
- COPILOTE correctionS.....ccccvvevvennea, -030.0

The aim is for the SPORT DRIVE correction to be
120-30=90, that is, 90/120=0.75 (less 25%).

Multiply the SPORT DRIVE coefficients by 0.75:

¥ SPORT DRIVE #
+ RO 12K

¥ SPORT DRIVE #
+ {018Y 0 QR

passes fo

>

b




